
Toutes les Opérations (I)Calculez chaque somme, différence, produit, ou quotient.15 + 17 = 18 - 9 = 9 × 12 = 156 ÷ 12 =9 + 13 = 14 × 11 = 16 × 5 = 14 + 4 =180 ÷ 15 = 23 - 11 = 4 × 8 = 17 × 16 =14 - 11 = 154 ÷ 11 = 266 ÷ 19 = 20 + 8 =14 × 5 = 4 × 16 = 5 × 5 = 3 + 5 =150 ÷ 15 = 15 + 9 = 255 ÷ 17 = 6 + 19 =2 ÷ 1 = 18 + 12 = 27 - 16 = 2 + 7 =25 - 11 = 8 + 19 = 39 - 20 = 10 × 13 =13 + 4 = 8 × 7 = 24 - 9 = 16 - 12 =6 + 15 = 2 × 3 = 208 ÷ 13 = 9 + 17 =280 ÷ 14 = 9 + 9 = 5 × 18 = 12 × 6 =16 × 12 = 2 + 8 = 20 + 17 = 3 × 8 =12 ÷ 6 = 36 - 19 = 20 + 19 = 9 + 9 =13 × 3 = 228 ÷ 12 = 14 + 20 = 2 × 17 =33 - 13 = 1 + 14 = 13 + 14 = 18 × 1 =14 + 10 = 9 + 10 = 17 + 1 = 23 - 20 =18 + 5 = 16 × 6 = 13 + 3 = 15 × 20 =14 × 2 = 18 - 11 = 20 × 3 = 7 + 7 =135 ÷ 15 = 1 × 12 = 32 - 15 = 19 + 5 =21 ÷ 3 = 18 × 5 = 14 × 13 = 3 × 13 =6 × 9 = 12 + 17 = 15 + 10 = 13 - 12 =24 - 4 = 4 + 5 = 2 × 17 = 38 ÷ 19 =19 + 16 = 180 ÷ 9 = 3 + 8 = 6 × 12 =27 - 10 = 2 + 6 = 5 × 17 = 15 ÷ 15 =42 ÷ 14 = 285 ÷ 19 = 16 - 7 = 7 × 15 =Mathslibres.com



Toutes les Opérations (I) RéponsesCalculez chaque somme, différence, produit, ou quotient.15 + 17 = 32 18 - 9 = 9 9 × 12 = 108 156 ÷ 12 = 139 + 13 = 22 14 × 11 = 154 16 × 5 = 80 14 + 4 = 18180 ÷ 15 = 12 23 - 11 = 12 4 × 8 = 32 17 × 16 = 27214 - 11 = 3 154 ÷ 11 = 14 266 ÷ 19 = 14 20 + 8 = 2814 × 5 = 70 4 × 16 = 64 5 × 5 = 25 3 + 5 = 8150 ÷ 15 = 10 15 + 9 = 24 255 ÷ 17 = 15 6 + 19 = 252 ÷ 1 = 2 18 + 12 = 30 27 - 16 = 11 2 + 7 = 925 - 11 = 14 8 + 19 = 27 39 - 20 = 19 10 × 13 = 13013 + 4 = 17 8 × 7 = 56 24 - 9 = 15 16 - 12 = 46 + 15 = 21 2 × 3 = 6 208 ÷ 13 = 16 9 + 17 = 26280 ÷ 14 = 20 9 + 9 = 18 5 × 18 = 90 12 × 6 = 7216 × 12 = 192 2 + 8 = 10 20 + 17 = 37 3 × 8 = 2412 ÷ 6 = 2 36 - 19 = 17 20 + 19 = 39 9 + 9 = 1813 × 3 = 39 228 ÷ 12 = 19 14 + 20 = 34 2 × 17 = 3433 - 13 = 20 1 + 14 = 15 13 + 14 = 27 18 × 1 = 1814 + 10 = 24 9 + 10 = 19 17 + 1 = 18 23 - 20 = 318 + 5 = 23 16 × 6 = 96 13 + 3 = 16 15 × 20 = 30014 × 2 = 28 18 - 11 = 7 20 × 3 = 60 7 + 7 = 14135 ÷ 15 = 9 1 × 12 = 12 32 - 15 = 17 19 + 5 = 2421 ÷ 3 = 7 18 × 5 = 90 14 × 13 = 182 3 × 13 = 396 × 9 = 54 12 + 17 = 29 15 + 10 = 25 13 - 12 = 124 - 4 = 20 4 + 5 = 9 2 × 17 = 34 38 ÷ 19 = 219 + 16 = 35 180 ÷ 9 = 20 3 + 8 = 11 6 × 12 = 7227 - 10 = 17 2 + 6 = 8 5 × 17 = 85 15 ÷ 15 = 142 ÷ 14 = 3 285 ÷ 19 = 15 16 - 7 = 9 7 × 15 = 105Mathslibres.com


